CCNA 3 Module 3 Exam Picture Descriptions

Host 192.168.1.66 in the network illustrated

Graphic depicts 2 routers connected via serial. Each router has a single workstation connected via Ethernet connection.

Host 1 has IP 192.168.1.66 and connects to R1 port E0, IP 192.168.1.65/26

R1 connects via S0, IP 10.1.1.5.30, to R2, S1, Ip 10.1.1.6/30. R2 E0, IP 192.168.1.129/26 connects to Host 2, IP 192.168.1.130/26

The text below is also illustrated

R1(config)# router eigrp 100

R1(config-router)#network 192.168.1.0

R1(config-router)#network 10.0.0.0

R2(config)# router eigrp 100

R2(config-router)#network 192.168.1.0

R2(config-router)#network 10.0.0.0

